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Use Lagrange multiplier to find the point on a line closest to origin.
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Problem #2. Find all solutions (z,y, 2z, A\) of the equations given by the
Lagrange multiplier method for the problem of determining the points on the
9 . .
surface z° = xy + 4 closest to the origin.
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Find the extrema of the function F(z,y) = 2y + x subject to the
constraint 0 = g(z,y) = y*> + vy — 1.
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Find the extrema of F(z,y) = 2%y — In(z) subject to
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No  bwndary pts = No extrema

Example 5.8.1.2 Use Lagrange multipliers to find the maximum and minimum values of the func-
tion subject to the given constraint z* + y* + z* = 1.
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